Logarithm

Bingle Correct Option Type Questions

U] (a, b) and (c, d) are solutions of simultaneous equation 5(log, x + log,y) =26, xy =64 thena+b+c+d=

(A) 51 B) 17 (C) 68 (D) 34
02 Iflogx logsk = log,5, k # 1, k> 0, then sum of all values of x is
24 26 37
A)S B) — C) — D) —
(A) (B) 3 ©) 5 (D) 5
.}  Complete set of solution of log;; P -4y2-2is
(A) (=0, 2) (B) (=0, 2+ Y13) (©) (2, ) (D) None of these
7 : 1 1
.4 In which of the following intervals does ————— + ———— lies
. log/,(1/3)  logy;5(1/3)
(A)(1,2) (B)(2,3) © G4 (D) (4,5)
1 4
0.5 IfT, = Bt (where r € N), then the value of ;T, is:
(A)3 B)4 ©5 (D) 10
(0.6 Sum of all the solutions of the equation [x -3 |+|x+5|=7x, is :
6 8 58 8
A) = B) = = D) —
(A) 7 (B) 7 ©) 63 D) 5
Q7  1£2"=3'=67 the value of ~+++1 isequalto
Xy z
(A)0 B)1 ©)2 (D)3
Q.8  Complete set of real values of x for which log.y-3) (x* - 5x - 6) is defined is
@) (%eo) (B) (6,%) © [% 6) ® (% 2) U@, %)

Q.9  Suppose logb + logya = C. The smallest possible integral value of C for all a,b> 1 is
(A)4 (B)3 ©2 D)1
Q.10 logoo; 1000 + logp, 0.0001 is equal to
5 5
(A)-2 (B)3 ©)i== D) =
2 2
16

15
(42" (B)(10® © 30" D)1

25 81
.11 If 7lo, + 5log, — + 3log, — =8, thena=
Q & Biion gy



Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

logs(128) - 1og,cm(§) -

El} 1 1 1,
(A) 5 (B) D ©) D (D) 7
2 M]
The value of (# 2 equals to
5v2 V2 42 242
(A) e (B) 27 © > (D) =7

The sum of all the roots of the equation loga(x — 1) + loga(x + 2) — loga(3x — 1) = log,4
(A) 12 (B)2 (©) 10 (D) 11

Let A = logs logs(3). If 3**” = 405. then the value of k is
A3 (B)5 ©)4 D)6

A circle has a radius logm(az) and a circumference of log;o(b*). Then the value of log,b is equal to
1 1
(A) — . (B) — ©)2n D)=
4n n

If2*=3"= 67, the value of l+l+l is equal to
X y z
A0 B)1 ©)2 D)3
The value of log, ( ﬁ_l)(sﬁ -7) is
(VY ®B)1 ©2 (D)3

%) . .
The value of log ﬁ , if logsy a = 4 is equal to

13 15 17
A)2 B) — C) — D) —
(GY) (B) . © 4 (D) 3
Identify the correct option
(A) log;3 <logys 5 (B) logs 7 < logs 3
3 173
(©) logy; V3 >logy; V5 ) 2" >(3)
Sum of all values of x satisfying the system of equations 5(logy x + log.y) = 26, xy =64 is’
(A) 42 (B) 34 ©)32 D)2

The product of all values of x satisfying the equation log; a — logy a = logys a is :
A3 (B) % ©)18 (D) 27

0.2

024

0.25

0.26

Q27

Q.28

Q.29

Q.30

Q.31

The value of X + y + z satisfying the system of equations
logzx+loggy+logsz=2 is
log; y + logg z + logjo x =2
logs z + logis x + logig y =2

175 349 353 112
A) — B) — C) — Py
()lz ()24 ()24 ()3
1 1+log, 2
(_) +57108us7
49
1 3 ' 5 1
A) T— B) 7— ) T— D) 7—
()196 ()196 ()196 ()98
; (37:)
"Ma)| 1
The number of real values of X satisfying the equation logx(3 — x) — log, (5—)— :E +loga(x +7) is
-X
(A)0 (B)1 ©)2 D)3

The number of real values of x satisfying the equation 3|x — 2| + |1 — 5x| + 4|3x + 1| =13 is
@1 B)4 ©2 )3

The number of values of x satisfying the equation loga(9* ™' +7) =2+ log, (3"~ ' + 1) is
@)1 (B)2 C(©3 )0

)(2— .
The product of all values of x satisfying the equation | x-1 |l°g’ 2oked o (x-1)7,is

(A) 162 (B) 1—% ©) % (D) 81
Evaluate 327
(A) % (B) % (C) 36 (D) None of these

12 13
Let P(x) = x* +4Tx+logm(4.§) ,A= HP(ai) where ay, a, ...... a), are positive reals and B = HP(bj)

i=1 =l
where by, by, ....., bys are non-positive reals then which one of the following is always correct ?
(A)A>0,B>0 (B)A>0,B<0
(CO)A<0,B>0 (D)A<0,B<0

The set of all rest values of x for which both log,_, (x* +x +1) and Vx? -9 are meaningless, is equal to
x+3

(A)[4,-3] (B) (-3,-2) ©32] [(IC=R)]



Multiple Correct Option Type Questions

tolumn Matching Type Questions

.32 If x satisfi =+ x=2|+x-
Q (A); iﬂe'(:s l.); I+Ix (L) ”‘E( 1 >0§’ then i 5 )41 Match the following List-I with List-II. (Where [.] denotes the greatest integer function)
% x€(-,
(C) xe(4, ) (D) (2, =) List-I List-II
Q.33 !fthe equation /n(x” + 5x) - £n(x + a + 3) = 0 has exactly one solution for x, then possible integral value of a (P) Iflogy x =logsy = logs (x +y) then [4—)’] is equal to (1 3
is: x
(A)-3 (B)-1 (©)0 (D)2 1-ab
(Q) Ifa=logus 175 and b =log75 875 then [ b] is equal to 2) 4
A=
7 . 3 .
Q34 Ifxe (0%) and sin x = T; Let k = logjo sin x = log;o cos x + 2 log;q cot x + log,o tan X. Then the value 10 X+
10 (R) Iflogyx +loge2 = — =log y+ log,2 and x # y then [ y] isequalto (3) 5
of k satisfies 3 .
(A)k=0 (B)k+1=0 O k-1=0 D)K-1=0
(S) 1f3'=4,4"=5,5=6,6°=7,7°=8and 8'=9 then [—5‘“’;“] isequalto (4) 6
Q.35 Ifa <0, then the value of x satisfying x” — 2a [x — a] - 3a’ = 0 is/are
Codes :
AWa(l-+2) B)a(l++2) (©a(-1-+6) (D)a(-1+6) P Q R S
. (A) 4 3 1 2
Q36  Iflogs(3™ 2+ 7) =2+ logs(3* " + 1) then x equals (B) 4 2 3 1
(A)O (B)1 ©)2 (D) None of these (C) 4 2 1 3
(D) 4 3 2 1

Passage Based Questions

Numeric Response Type Questions
Passage # 1 (Q. 37 & 38) '
¥ 5 3 3 N -1
Given a right triangle ABC right angled at C and whose legs are given 1 + 4log  (2p), 1 +2lo8:008:P) g v

a5 e 7
hypotenuse is given to be 1 + log, (4p). The area of AABC and circle circumscribing it are A, and A, Q.42 The value L 3log; (1728)

respectively, then

is

Ls® 1
I+ 3 log,(0.36) + 3 log,, 8

4
Q37 A+ A8 4 equal to l 1
m 2
Q.43  How many ordered pair(s) satisfy log(x3 +=y'+ 3) =logx +logy
b

(A) 31 (B) 28 ©)3+ — D) 199
7 (D)
1
2 Q.44 Iflogs(log, 3(log. (x)))= — ; findx.
Q.38 The value of sin ("(25"6;"”) = BB 2
(A) 1 ®) e © ﬁ o1 Q.45  Find the number of real values of x satisfying the equation 928X 4 4x +3=0
2 2 2
Q46 Ifx,y, z € (0, 1] such that (log x)(log y) = log(xy) and 2(log x)(log z) = log(zx), then the value of
Passage #2 (Q. 39 & 4?) 5 5 2x + 3y + 4z is equal to
¥f10g|0 X+ ¥ | =logio| X = xy + ¥ | + logio [x* = y* | — logyo | X* + Xy + y* | = logie 221, where x, y are
integers, then Q.47 If sum of maximum and minimum value of y = loga(x* + X2+ 1) — loga(x* + x* + 2x* + x + 1) can be

expressed in form ((logam) — n), where m and 2 are coprime then compute (m + n).
Q.39 Ifx=111,theny canbe P (omny=m) P B )
a1l (O ©=110 (D) £109 Q48 Ifl-log, 2+ Iogl: 9- logx, 64 <0, then range of x is (a, b). Find the minimum value of (a + 9b).

Q.40 Ify=2, then value of x can be
(A)+111 (B)+15 ©)+2 (D)+110



ANSWER KEY |

Single Correct Option type Questions

1.(C) 2.(0) 3.(A) 4.(B) 5.(C) 6. (B) 7.(A)
8.(B) 9.(C) 10. (D) 11.(A) 12. (A) 13.(D) 14. (D)
15.(C) 16. (D) 17. (A) 18. (D) 19. (D) 20. (D) 21.(B)
22.(D) 23.(C) 24. (A) 25.(B) 26. (C) 27.(B) 28.(A)
29.(B) 30. (A) 31.(C)

Multiple Correct Option type Questions

32.(B,C) 33.(B,C,D) 34.(B,D) 35.(AD) 36.(A,C)

Passage Based Questions

37.(A) 38.(C) 39.(C) 40. (B)

Column Matching Type Questions

41. (D)

Numeric Response Type Questions
42.2 43.1 4.5 45.0 46.9 47.5 48.25
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